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DO000000o0ooddao Oas:#include main() { struct{ /*
000000 0O 0O * char name[8]. int age. char sex[2]. char
depart[20]. float wagel, wage2, wage3, wage4, wageb. }a. FILE *fp.
float wage. charc=" Y’ .fp=fopen("wage.dat","w"). /*J O O [
OoOO00O*whie(c=="Y |lc==" y )/0Qoodooaoodo*
{ printf(" Name:"). scanf("%s", a.name). /*J 10 OO [ */
printf("Age:"). scanf("%d", amp.a.wagel). /*J 0 O 00 */
printf("Wage2:"). scanf("%f", amp.a.wage3). printf("\Wage4:").
scanf("%f", amp.a.wage5). wage=a.wagel a.wage2 a.wage3 a.wage4
a.wageb. printf("The sum of wage is %6.2f ", wage)./*J O OO [ */
fprintf(fp, "sM%4s0s.2f ", /*00 00 OO O O O */ a.name, a.age, a.sex,
a.depart, wage). while(1) { printf("Continue?"). c=getche(). if(c==
"Y' |le=="y |[lc==" N’ ||lc==" n’ ) break.}}fclose(fp).}
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